
MATHS

BOOKS - CBSE COMPLEMENTARY MATERIAL MATHS

(HINGLISH)

NUMBER SYSTEMS

Part A

1. If x=2 and y=4 , then =________.`

A. 4

B. 8

C. 12

( )
x−y

+ ( )
y−xx

y

y

x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_st2BA7lQAc3B


D. 2

Answer:

Watch Video Solution

2. Which of the following is the greatest?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

42

(16)3 / 2

( )
− 1 / 31

64

(256)
1 / 4

https://dl.doubtnut.com/l/_st2BA7lQAc3B
https://dl.doubtnut.com/l/_bz9IpCnzPi2i
https://dl.doubtnut.com/l/_3Dor2MbiyV95


3. 

A. 2

B. 5

C. 1

D. 11

Answer: A

Watch Video Solution

(32)
0.2

+ (81)
0.25

(256)
0.5

− (121)
0.5

4.  lies between the fractions _______.

A. 

B. 

3

7

,
4
9

5

9

,
43
99

4
9

https://dl.doubtnut.com/l/_3Dor2MbiyV95
https://dl.doubtnut.com/l/_TAFoiIBT04o2


C. 

D. 

Answer: B::D

Watch Video Solution

,
42
99

4
9

,
41
99

41
9

5. The number 
 is:
 (a) natural number

(b) an integer
(C) rational number (d) an irrational number

A. a natural number

B. an integer

C. a rational number

D. an irrational number

Answer: A::B

0. 318564318564318564...

https://dl.doubtnut.com/l/_TAFoiIBT04o2
https://dl.doubtnut.com/l/_l3xj4SAJxgzO


Watch Video Solution

6. The number 0.7 in the form , where p and q are integers

and  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

p

q

q = !0

77
100

7
10

7
9

7
100

7. The value of  + 0.  is¯̄̄¯23 ¯̄̄¯22

https://dl.doubtnut.com/l/_l3xj4SAJxgzO
https://dl.doubtnut.com/l/_eWKdpz5hwqoe
https://dl.doubtnut.com/l/_ljv8CBYsRUTy


A. 0.45

B. 

C. 

D. both (b) and c

Answer: A::B::C::D

Watch Video Solution

0. ¯̄̄¯45

45
99

8. The value of  is

A. 1

B. .-1

C. 0

D. 7

[3 − 4(3 − 4)4]
3

https://dl.doubtnut.com/l/_ljv8CBYsRUTy
https://dl.doubtnut.com/l/_KOsXUGqZLY2h


Answer: A

Watch Video Solution

9. The cube root of 125 divided by square root of 25, is

A. 5

B. 1

C. 43835

D. None of these

Answer: A

Watch Video Solution

10. if  = 625 then y isy2

https://dl.doubtnut.com/l/_KOsXUGqZLY2h
https://dl.doubtnut.com/l/_7yfgEes37R7g
https://dl.doubtnut.com/l/_fKH6j54FS8RK


A. a rational number

B. an irrational number

C. neither rational nor irrational

D. a natural number

Answer: A::B

Watch Video Solution

11.  = _______

A. 29587

B. 81

C. 243

D. 343

.2 √(81)2.5

https://dl.doubtnut.com/l/_fKH6j54FS8RK
https://dl.doubtnut.com/l/_eq5SPN09uCzu


Answer: B::C::D

Watch Video Solution

12. Find the value of 
if 

A. 2

B. 3

C. 5

D. 7

Answer:

Watch Video Solution

x, 5x− 3. 32x− 8 = 225

13. If 
find the value of x = 2 +  √3, x +
1

x

https://dl.doubtnut.com/l/_eq5SPN09uCzu
https://dl.doubtnut.com/l/_lesD0Cuo8S2f
https://dl.doubtnut.com/l/_cmYQgdB6g0Jt


A. 

B. 

C. 

D. 1

Answer: B::C

Watch Video Solution

2 + √3

2 − √3

√3 − 2

14. The smallest natural number is
 0
 (b) 1 (c)
 
 (d) None of

these

A. .-1

B. 0

C. 1

−1

https://dl.doubtnut.com/l/_cmYQgdB6g0Jt
https://dl.doubtnut.com/l/_TI8CT6KwmaPH


D. 2

Answer: A

Watch Video Solution

15. Which of the following is not a rational number?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

√4

√9

√25

https://dl.doubtnut.com/l/_TI8CT6KwmaPH
https://dl.doubtnut.com/l/_sSq96mpxnCpT
https://dl.doubtnut.com/l/_4E4PxuHtbpXr


16. choose the wrong statement:

A. Every natural number is a whole number.

B. Every integer is a rational number

C. Every rational number is an integer.

D. Every rational number is a real number.

Answer: A::B

Watch Video Solution

17. The decimal expansion of the number  is

A. a finite decimal

B. 1.732

C. non-terminating

√3

https://dl.doubtnut.com/l/_4E4PxuHtbpXr
https://dl.doubtnut.com/l/_IrhzeQYupybq


D. non-terminating, non-recurring

Answer: A::C

Watch Video Solution

18. Between tw rational numbers

A. there is no rational number.

B. there is exactly one rational number.

C. there are infinitely many rational numbers.

D. there are only rational numbers and no irrational number

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_IrhzeQYupybq
https://dl.doubtnut.com/l/_99njNiBcLR3N
https://dl.doubtnut.com/l/_bZ8bwk1LPCWW


19. Which of the following is an irrational number?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√
4
9

√12

√3

√7

√8.1

20. Every rational number is

A. a natural number

B. an integer

C. a real number

https://dl.doubtnut.com/l/_bZ8bwk1LPCWW
https://dl.doubtnut.com/l/_RiRrliJiY5GS


D. a whole number

Answer: A::B

Watch Video Solution

21.  is equal to

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

√6 × √8

3√4

4√3

√14

6√8

https://dl.doubtnut.com/l/_RiRrliJiY5GS
https://dl.doubtnut.com/l/_vxQ9MNUINwCG
https://dl.doubtnut.com/l/_mN3X7rMESskD


22. After rationalising the denominator of , we get

the denominator as

A. 1

B. 5

C. 19

D. 35

Answer: A

Watch Video Solution

3√2

3√2 − 2√2

23. Which of the following is equal to 'a'?

A. 

B. 

a − a
10
6

4
6

.12 √(a4)
1 / 3

https://dl.doubtnut.com/l/_mN3X7rMESskD
https://dl.doubtnut.com/l/_0bBrtrkN5QPz


C. 

D. 

Answer: B::C

Watch Video Solution

(√a3)
2
3

a × a
12
7

7
12

24. The product of any two irrational numbers is

A. always an irrational number.

B. always a rational number

C. always an integer.

D. sometimes rational, sometimes irrational

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0bBrtrkN5QPz
https://dl.doubtnut.com/l/_jIXDpqQataRH


Part B

25. A rational number between  and  is

A. 

B. 

C. 1.5

D. 1.8

Answer: A

Watch Video Solution

√2 √3

√2 + √3

2

√2 × √3

2

1. The sum/difference of a rational and an irrational number is

_______ .

https://dl.doubtnut.com/l/_jIXDpqQataRH
https://dl.doubtnut.com/l/_aZk7xqifGGpu
https://dl.doubtnut.com/l/_seQmWDzmc13s


Watch Video Solution

2. The sum/difference of a rational and an irrational number is

_______ .

Watch Video Solution

3. The decimal expansion of every rational number is either

________ or non-terminating _________

Watch Video Solution

4. The decimal representation of an irrational number is

Watch Video Solution

https://dl.doubtnut.com/l/_seQmWDzmc13s
https://dl.doubtnut.com/l/_rKRyyMCa9MOO
https://dl.doubtnut.com/l/_0BrSiBhAKtYN
https://dl.doubtnut.com/l/_FLqk7J6JrZq4
https://dl.doubtnut.com/l/_jPlJIrzsWy5u


5. Write three numbers whose decimal expansions are
 non-

terminating non-recurring.

Watch Video Solution

6. Between tw rational numbers

Watch Video Solution

7. Between tw rational numbers

Watch Video Solution

8. Between two distinct irrational numbers there

lie______rational numbers.

https://dl.doubtnut.com/l/_jPlJIrzsWy5u
https://dl.doubtnut.com/l/_kJ79oICfzZi4
https://dl.doubtnut.com/l/_iXVXFRSn0PB8
https://dl.doubtnut.com/l/_RZRORIGHRv2l


Part C

Watch Video Solution

9. Reciprocal of a non - zero rational number

Watch Video Solution

1. State whether the following statements
are true or false. Give

reasons for your answers.
 (i) Every
 natural number is a whole

number.
 (ii) Every
 integer is a whole number.
 (iii) Every
 rational

number is a whole number.

Watch Video Solution

https://dl.doubtnut.com/l/_RZRORIGHRv2l
https://dl.doubtnut.com/l/_Mu2Le0BWoE79
https://dl.doubtnut.com/l/_zUiI4hIczdgD


2. Every integer can be written in the form , where p,q are

integers 

Watch Video Solution

p

q

q = !0

3. State whether the following statements are true or false.

Justify your answers,(i) Every irrational number is a real number.

(ii) Every point on the number line is of the form , where m

is a natural number.(iii) Every real number is a

Watch Video Solution

√m

4. There are infinitely many integers between any two integers

Watch Video Solution

https://dl.doubtnut.com/l/_ZQfuP0qyxENa
https://dl.doubtnut.com/l/_4TlpVlvEUDak
https://dl.doubtnut.com/l/_00MBxMCPU7hn
https://dl.doubtnut.com/l/_XaMjH7lwRm1e


5. The square of an irrational number is always a rational

number

Watch Video Solution

6. Reciprocal of every rational number is a rational number.

Watch Video Solution

7. Write first five whole numbers in  form, where p and q are

integers and 

Watch Video Solution

p

q

q = !0

8. Find decimal expansion of ., , ,
17

8

3

15

2

7

50

3

https://dl.doubtnut.com/l/_XaMjH7lwRm1e
https://dl.doubtnut.com/l/_LyIjfwwcOQbV
https://dl.doubtnut.com/l/_9DRaVYXgdAHz
https://dl.doubtnut.com/l/_SbrWJK7kuVuU


Watch Video Solution

9. Find four rational numbers between  and .

Watch Video Solution

2

9

3

7

10. Find decimal form of  and  upto 3 decimal place.

Watch Video Solution

√23 √24

11. Find two irrational numbers lying between 

Watch Video Solution

√2 and √3

https://dl.doubtnut.com/l/_SbrWJK7kuVuU
https://dl.doubtnut.com/l/_Kp031kZCCTFZ
https://dl.doubtnut.com/l/_ZWE7kVNj9axE
https://dl.doubtnut.com/l/_kOUA5cUgaqoR


12. Find one irrational and one rational number between 2 and

Watch Video Solution

√5

13. Write two numbers whose decimal expansions are

terminating.

Watch Video Solution

14. What can be the maximum number of digits in the repeating

block of digits in the expansion of  ?

Watch Video Solution

5

7

https://dl.doubtnut.com/l/_jhiViCRkht0T
https://dl.doubtnut.com/l/_IoXvKBf9Ueko
https://dl.doubtnut.com/l/_W2miSJfh1xFM


15. Write three numbers whose decimal expansions are
 non-

terminating non-recurring.

Watch Video Solution

16. Find the value of 

Watch Video Solution

(256)0.16 × (256)0.09

17. Find two irrational numbers between 2016 and 2017

Watch Video Solution

18. Represent  on the number line.

Watch Video Solution

−7
5

https://dl.doubtnut.com/l/_ND7p5UO4vQ9m
https://dl.doubtnut.com/l/_XrWJnXmubDB0
https://dl.doubtnut.com/l/_8hwVpoAaeHJ8
https://dl.doubtnut.com/l/_Dmm1DDRYxmV2


19. Represent following on number line 

(i)  (ii)  (iii) 

Watch Video Solution

√5 √3 √2

20. Insert two irrational numbers between  and 

Watch Video Solution

2

3

3

2

21. Simplify: 

Watch Video Solution

√5 + √3

√80 + √48 − √45 − √27

22. Find the value of [13 + 23 + 33 + 82]
− 5

2

https://dl.doubtnut.com/l/_Dmm1DDRYxmV2
https://dl.doubtnut.com/l/_4mW9MQZvaMOo
https://dl.doubtnut.com/l/_IOXGz435Xtgj
https://dl.doubtnut.com/l/_4XcotnjPE03W
https://dl.doubtnut.com/l/_RndPseW0LTBV


Watch Video Solution

23. Find the value of x if 

Watch Video Solution

x1 / 2 = (36)0.5

24. Find the value of x if 

Watch Video Solution

(√3)
x

= 37

25. If . Then find the value of 

Watch Video Solution

25x ÷ 2x = 5√32 x.

26. Evaluate ax−y, aY −z, az −x

https://dl.doubtnut.com/l/_RndPseW0LTBV
https://dl.doubtnut.com/l/_DMYSRfHec8nV
https://dl.doubtnut.com/l/_VwnK7i7GhNHc
https://dl.doubtnut.com/l/_lydyCcVa7hkv
https://dl.doubtnut.com/l/_1duv4c53gge1


Watch Video Solution

27. Simplify 

Watch Video Solution

12 . 5
2
5

2
5

28. Which of the following rational numbers will have

terminating decimal expansion or a non-terminating repeating

(recurring) decimal expansion 

(i)  (ii)  (iii)  (iv)  

(v)  (vi)  (vii) 

Watch Video Solution

135

50
4
11

8

7
6

3

8
55

9

52 × 33

2 × 53 × 27

51

60

https://dl.doubtnut.com/l/_1duv4c53gge1
https://dl.doubtnut.com/l/_kT2qNDrOUndK
https://dl.doubtnut.com/l/_K47aZNtGOiVm


29. Classify the following numbers as terminating decimal or

non-terminating recurring decimal or non-terminating non-

recurring decimal: 

(i) 0.1666… (ii) 0.250 (iii) 1.01001000100001… 

(iv) 0.27696 (v) 2.142857142857… (vi) 0.3 

(vii) 0.2359872785.... (viii) 0.484848848... (ix) 2.502500250002.... 

(x) 4.123456789 

Also classify these given numbers as Rational and irrational

numbers.

Watch Video Solution

30. Classify the following numbers as rational or irrational

number: 

(i)  (ii)  (iii)  (iv)  
√27 √36 √5 × √125 2√3

https://dl.doubtnut.com/l/_arrAqxK6USIX
https://dl.doubtnut.com/l/_7ZONZBDnc8UJ


(v)  (vi)  (viii)  


(viii)  (ix)  (x) 

Watch Video Solution

7√7

√343
2 + √21 5 + 2√23 − (√25 + √92)

22

7
π .3 √37

31. Express the following numbers in the form  where p and q

are integers and . (i) 0.0875 (ii) 2.123456789 (iii) 0.181818…..

(iv) 0.437 (v) .651

Watch Video Solution

p

q

q ≠ 0

32. Do as directed: 

(i) Add :  and  


(ii) Add:  and  


(iii) Multiply :  by  

(iv) Multiply :  by 3 


√125 + 2√27 −5√5 − √3

√7 − √11 √5 − √11 + √13

2√2 5√2

( − 3 + √5)

https://dl.doubtnut.com/l/_7ZONZBDnc8UJ
https://dl.doubtnut.com/l/_av0kiJaK7go9
https://dl.doubtnut.com/l/_hNbrM1oDJqO6


(v) Divide :  by  


Divide :  by  


(vi) Divide :  by 3

Watch Video Solution

7√5 −14√125

7√5 −14√125

2√216 − 3√27

33. Simplify: 

(i)  (ii)  

(iii)  (iv) 

Watch Video Solution

(2√2 + 3√3)(2√2 − 3√3) (2√8 − 3√2)
2

(√7 + √6)
2

(6 − √2)(2 + √3)

34. Evaluate : 

(i)  (ii) 

Watch Video Solution

238 + 237 + 236

239 + 238 + 237
[(64 ) ]

2
1
2

1
6

https://dl.doubtnut.com/l/_hNbrM1oDJqO6
https://dl.doubtnut.com/l/_OxTQagtD77WS
https://dl.doubtnut.com/l/_CW3fRoQG4ovV


35. Find the values of  and  if 

Watch Video Solution

a b = a√2 − b√3
6

3√2 − 2√3

36. =

Watch Video Solution

(5(81 / 3 + 271 / 3)
3
)

1 / 4

37. Simplify :
 
(ii) 

Watch Video Solution

(25) x(243)
3
2

3
5

(16) x(8)
5
4

4
3

16x2n+ 1 − 4x2n

16x2n+ 2 − 2x2n+ 2

38. If  then find 

Watch Video Solution

52x− 1 − (25)x− 1 = 2500 x

https://dl.doubtnut.com/l/_xEYoaAxGuyzh
https://dl.doubtnut.com/l/_jH8ma5KnadNp
https://dl.doubtnut.com/l/_3FQRvq6SAe9y
https://dl.doubtnut.com/l/_TUM3Z21d7Jtf


Part D

1. Express  in the form  where p and q are

integers and 

Watch Video Solution

0.6 + 0. 7̄ + 0. ¯̄̄¯47
p

q

q = !0

2. Rationalise the denominator of 

Watch Video Solution

1

√3 + √5 + √7

3. Find the value of a and b if 

Watch Video Solution

− = a + b√5
7 + 3√5

3 + √5

7 − 3√5

3 − √3

https://dl.doubtnut.com/l/_TUM3Z21d7Jtf
https://dl.doubtnut.com/l/_6PlUt7AegdE6
https://dl.doubtnut.com/l/_1E1Cl0Qh3LGc
https://dl.doubtnut.com/l/_zN9ZfqXodR4H


4. If , show that 

Watch Video Solution

x = (3 − 2√2) (√x − ) = ± 2
1

√x

5. If xyz=1 then show that

Watch Video Solution

(1 + x + y− 1)
− 1

+ (1 + y + z − 1)
− 1

+ (1 + z + x− 1)
− 1

= 1

6. Find the value of  if 

(i)  (ii) 

Watch Video Solution

x

252x− 3 = 52x+ 3 (4)
2x− 1

− (16)
x− 1

= 384

https://dl.doubtnut.com/l/_zN9ZfqXodR4H
https://dl.doubtnut.com/l/_8Od8hlMf183p
https://dl.doubtnut.com/l/_iZWPXjUGvvRI
https://dl.doubtnut.com/l/_rDzrApFDRzoK
https://dl.doubtnut.com/l/_igj5NSDekYFA


7. Evaluate: 

Watch Video Solution

×
64

a

6

4a
22a+ 1

2a− 1

8. Show that:

Watch Video Solution

+ + = 1
1

1 + xb−a + xc−a

1

1 + xa− b +  xc− b

1

1 + xb− c +  xa− c

9. Simplify: 

Watch Video Solution

( )
a− b

× ( )
b− c

× ( )
c−a

xa

x− b

xb

x− c

xc

x−a

10. Let

T = − + − +
1

3 − √8

1

√8 − √7

1

√7 − √6

1

√6 − √5

1

√5 + 2

https://dl.doubtnut.com/l/_igj5NSDekYFA
https://dl.doubtnut.com/l/_pzXEcWURX3E3
https://dl.doubtnut.com/l/_m4aUlSG5LlmG
https://dl.doubtnut.com/l/_vfoIShcByaFk


then-

Watch Video Solution

11. If  then find the value

of 

Watch Video Solution

a = and b = ,
√7 − √6

√7 + √6

√7 + √6

√7 − √6

a2 + b2 + ab

12. 

Watch Video Solution

+ −
2√6

√2 + √3

6√2

√6 + √3

8√3

√6 + √2

13. If  then , find the value of 

A. 
​

x = 9 − 4√5 [x3 − ]
1

x3

−2684√5

https://dl.doubtnut.com/l/_vfoIShcByaFk
https://dl.doubtnut.com/l/_gLB98SpMo0Os
https://dl.doubtnut.com/l/_3nhYzsRpjX0u
https://dl.doubtnut.com/l/_VcmxNJwG9Abf


B. 
​

C. 
​

D. 
​

Answer: B

Watch Video Solution

−2584√5

−2584√6

−2684√6

14. If  , find the value of 

Watch Video Solution

a = 1 + √7 −
6

a

15. If  Find 

Watch Video Solution

p = 5 − 2√6 p2 +
1

p2

https://dl.doubtnut.com/l/_VcmxNJwG9Abf
https://dl.doubtnut.com/l/_4blcECgam1ax
https://dl.doubtnut.com/l/_ktETV2aFpxCD
https://dl.doubtnut.com/l/_vBgC7VjiSdKR


16. Express 0.3178 is the form of p/q where p and q are integers

Watch Video Solution

17. If  = 1.414 then find the value of 

Watch Video Solution

√2 √8 + √50 + √72 + √98

18. Simplify:


Watch Video Solution

+ +
4

(216) − 2
3

1

(256) − 3
4

2

(243) − 1
5

https://dl.doubtnut.com/l/_vBgC7VjiSdKR
https://dl.doubtnut.com/l/_HxiLn1N6gNFJ
https://dl.doubtnut.com/l/_Vgh8cLLHR2cm

